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QUESTION 1

Click the Exhibit button. 

Given the route shown in the exhibit, which two prefixes contribute to the aggregate route? (Choose two.) 

A. 172.12.31.0/24 

B. 172.12.33.0/24 

C. 172.12.30.0/24 

D. 172.12.32.0/24 

Correct Answer: AC 

 

QUESTION 2

Click the Exhibit button. 
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You have configured OSPF routing as shown in the exhibit. You notice that all interfaces have formed full adjacencies,
with the exception of the interfaces connecting R3 and R4 with a status of 2Way. 

What is the reason for this status? 

A. The two routers must both be configured as DR routers. 

B. DROther routers will not form a full adjacency with each other. 

C. The two routers must be configured in different areas. 

D. The interface-type is not configured as p2p. 

Correct Answer: B 

 

QUESTION 3

In which two STP states is a port active and a MAC address learned? (Choose two.) 

A. blocking 

B. forwarding 

C. disabled 

D. learning 

Correct Answer: BD 
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QUESTION 4

Click the Exhibit button. 

Which statement is correct about the ISO NET address shown in the exhibit? 

A. The system identifier is 6800.1001.00 

B. The area identifier is 0001 

C. The authority and format identifier (AFI) is 00 

D. This is not a valid NET address 

Correct Answer: B 

 

QUESTION 5

Click the Exhibit button. 
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You are attempting to set up VRRP with R1 and R2 being participating members. You want R1 to be the master router
and R2 to be the backup router with the virtual router they create being at address 

172.25.100.1. The virtual router is not pinging from either User A or User B. 

Referring to the exhibit, what must be done to correct the problem? 

A. A VRRP policy is needed on R1 and R2. 
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B. The VRRP group value on R1 and R2 must match. 

C. The VRRP priority value on R1 and R2 must match. 

D. A VRRP authentication type value is needed on R1 and R2. 

Correct Answer: B 

 

QUESTION 6

Which two OSPF header fields must match to form an adjacency over a broadcast connection? (Choose two.) 

A. router priority 

B. options 

C. hello interval 

D. neighbor 

Correct Answer: BC 

 

QUESTION 7

Click the Exhibit button. 
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Your router is configured to peer with your ISP\\'s router using BGP. You can only control your BGP configuration. 

Which address families are negotiated between the two BGP peers shown in the exhibit? 

A. inet-unicast inet-vpn-unicast 12vpn-signaling 

B. inet-unicast 

C. inet-vpn-unicast 

D. inet-unicast inet-vpn-unicast 12vpn 

Correct Answer: B 
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QUESTION 8

Click the Exhibit button. 

Referring to the exhibit, what do the asterisks (*) indicate? 

A. The entries are new 

B. The entries are stale 

C. The router originated the entries 

D. The router received the entries 

Correct Answer: C 

 

QUESTION 9

What are two interarea OSPF LSA types? (Choose two.) 

A. Type 1 router LSAs 

B. Type 3 summary LSAs 

C. Type 4 ASBR summary LSAs 

D. Type 2 network LSAs 

Correct Answer: BC 

 

QUESTION 10

Which two sequences correctly describe the processing order of firewall filters on an EX Series switch? (Choose two.) 

A. router filter > VLAN filter > port filter > transmit packet 

B. port filter > VLAN filter > router filter > transmit packet 

C. receive packet > port filter > VLAN filter > router filter 

D. receive packet > router filter > VLAN filter > port filter 
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Correct Answer: AC 

 

QUESTION 11

Click the Exhibit button. 

Referring to the exhibit, which policy will export routes to IBGP peers? 

A. static-3 

B. static-4 
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C. static-1 

D. static-2 

Correct Answer: B 

 

QUESTION 12

Which two requirements must be satisfied before graceful restart will work? (Choose two.) 

A. a stable network topology 

B. a neighbor configured with BFD 

C. a neighbor configured with graceful restart 

D. a neighbor with an uptime greater than an hour 

Correct Answer: AC 

 

QUESTION 13

An EBGP session sources its TCP connection from which IP address? 

A. The IP address assigned as the router ID. 

B. The IP address of the preferred address assigned to the loopback interface. 

C. The IP address of the primary address assigned to the loopback interface. 

D. The IP address of the interface that connects the two BGP speakers. 

Correct Answer: D 

 

QUESTION 14

Which Junos feature allows you to combine multiple interfaces into a single bundle? 

A. VRRP 

B. Virtual Chassis 

C. LAG 

D. NSB 

Correct Answer: C 

 

QUESTION 15
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Click the Exhibit button. 

Based on the output shown in the exhibit, which statement is correct? 

A. This switch has been elected as the root bridge 

B. This switch has a bridge priority of 32k 

C. The ge-0/0/15 interface is using the default port cost 

D. The ge-0/0/9 interface is using the default priority value 

Correct Answer: A 
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